Thayerviller Water System Contract #1 Bid Tabulation

				Carl Be	elt, Inc.	Frank	Arnold	Excavating	Associates	Alvarez (Contractors	Wi	nters
Constr	uction Contract 1 - Section A									他是我们			
Item #	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	Mobilization	LS	1		\$0.00	\$40,000.00	\$40,000.00		\$0.00		\$0.00	\$20,000.00	\$20,000.00
2	Traffic Control	LS	1		\$0.00	\$40,000.00	\$40,000.00	14 700 410	\$0.00		\$0.00	\$1,000.00	\$1,000.00
3	Audio Visual Taping	LS	1		\$0.00	\$3,200.00	\$3,200.00		\$0.00		\$0.00	\$1,000.00	\$1,000.00
4	12" Ductile Iron Water Line	LF	760		\$0.00	\$92.00	\$69,920.00		\$0.00		\$0.00	\$100.00	\$76,000.00
5	8" Ductile Iron Water Line	LF	200		\$0.00	\$59.00	\$11,800.00		\$0.00		\$0.00	\$70.00	\$14,000.00
6	6" Ductile Iron Water Line	LF	220		\$0.00	\$51.00	\$11,220.00		\$0.00		\$0.00	\$69.00	\$15,180.00
7	4" Ductile Iron Water Line	LF		-	- 1	-	-		- /	-			
8	12" PVC Water Line	LF	7,820		\$0.00	\$50.00	\$391,000.00		\$0.00		\$0.00	\$28.00	\$218,960.00
9	8" PVC Water Line	LF	2,920		\$0.00	\$37.00	\$108,040.00		\$0.00		\$0.00	\$28.00	\$81,760.00
10	6" PVC Water Line	LF	8,950		\$0.00	\$30.70	\$274,765.00		\$0.00		\$0.00	\$19.00	\$170,050.00
11	4" PVC Water Line	LF	450		\$0.00	\$30.00	\$13,500.00		\$0.00		\$0.00	\$20.00	\$9,000.00
12	2" PVC Water Line	LF	2,500		\$0.00	\$24.75	\$61,875.00		\$0.00		\$0.00	\$12.00	\$30,000.00
13	12" Gate Valve with Valve Box	EA	9		\$0.00	\$2,240.00	\$20,160.00		\$0.00		\$0.00	\$2,000.00	\$18,000.00
14	8" Gate Valve with Valve Box	EA	2		\$0.00	\$1,400.00	\$2,800.00		\$0.00		\$0.00	\$1,400.00	\$2,800.00
15	6" Gate Valve with Valve Box	EA	12		\$0.00	\$1,075.00	\$12,900.00		\$0.00		\$0.00	\$1,000.00	\$12,000.00
16	4" Gate Valve with Valve Box	EA	2		\$0.00	\$970.00	\$1,940.00		\$0.00		\$0.00	\$900.00	\$1,800.00
17	2" Ball Valve with Valve Box	EA	6		\$0.00	\$1,025.00	\$6,150.00		\$0.00		\$0.00	\$700.00	\$4,200.00
18A	12" x 3/4" Main Line Service Connection	EA	45		\$0.00	\$300.00	\$13,500.00		\$0.00		\$0.00	\$400.00	\$18,000.00
18B	8" x 3/4" Main Line Service Connection	EA	14		\$0.00	\$280.00	\$3,920.00		\$0.00		\$0.00	\$500.00	\$7,000.00
18C	6" x 3/4" Main Line Service Connection	EA	56		\$0.00	\$240.00	\$13,440.00		\$0.00		\$0.00	\$500.00	\$28,000.00
18D	2" x 3/4" Main Line Service Connection	EA	12		\$0.00	\$230.00	\$2,760.00		\$0.00		\$0.00	\$400.00	\$4,800.00
19	1 1/2" Main Line Service Connection	EA	-	_	-	-	-	-	-	-	-	_	-
20	3/4" PE Pipe	LF	3,400		\$0.00	\$16.00	\$54,400.00		\$0.00		\$0.00	\$6.00	\$20,400.00
21	1 1/2" PE Pipe	LF	-	-			-	-	-	_	-	-	<u>.</u>
22	1 1/2" Wye	EA	-	-	-	-	-	-	-	-	-	-	-
23	3/4" Meter Assembly	EA	127		\$0.00	\$200.00	\$25,400.00		\$0.00		\$0.00	\$200.00	\$25,400.00

•				Carl B	elt, Inc.	Frank	Arnold	Excavating	, Associates	Alvarez (Contractors	w	inters
Constr	ruction Contract 1 - Section A												
Item #	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
24	1 1/2" Meter Assembly	EA	-	-		-		-	-	-			-
25	Fire Hydrant Assembly	EA	20		\$0.00	\$3,700.00	\$74,000.00		\$0.00		\$0.00	\$3,000.00	\$60,000.00
26	Blow Off	EA	6		\$0.00	\$1,500.00	\$9,000.00		\$0.00		\$0.00	\$500.00	\$3,000.00
27	20" Casing	LF	-	-	-	-				-			•
28_	16" Casing	LF	-		-	-				-	-	-	•
29	14" Casing	LF	-		-	-		_		-	2		
30	10" Casing	LF	:=:			-	-			-			:*
31	4" Casing	LF	-		-	-	-						-
32	2" PVC Casing	LF			-	-			-	-	•	-	-
33	20 " Steel Casing (Open Cut)	LF	80		\$0.00	\$88.00	\$7,040.00		\$0.00		\$0.00	\$100.00	\$8,000.00
34	16" Steel Casing (Open Cut)	LF	150		\$0.00	\$85.00	\$12,750.00		\$0.00		\$0.00	\$50.00	\$7,500.00
35	14" Steel Casing (Open Cut)	LF	170		\$0.00	\$85.00	\$14,450.00		\$0.00		\$0.00	\$30.00	\$5,100.00
36	2" PVC Casing (Open Cut)	LF	1,300		\$0.00	\$22.00	\$28,600.00		\$0.00		\$0.00	\$5.00	\$6,500.00
37	Asphalt Trench Patch (Private)	SY	2,700		\$0.00	\$57.00	\$153,900.00		\$0.00		\$0.00	\$46.00	\$124,200.00
38	Asphalt Trench Patch (County)	SY	-	-	-		-	-	-	-	-	-	-
39	Asphalt Trench Patch (State)	SY	-	-	-	-	-	-		-	-	-	-
40	Asphalt Overlay	SY	1,320		\$0.00	\$16.00	\$21,120.00		\$0.00		\$0.00	\$15.00	\$19,800.00
41	Triple Coat Tar & Chip	SY	3,650		\$0.00	\$4.80	\$17,520.00		\$0.00		\$0.00	\$6.00	\$21,900.00
42	Aggregate for Streets & Driveways	CY	30		\$0.00	\$54.00	\$1,620.00		\$0.00		\$0.00	\$20.00	\$600.00
43	2" Milling	SY	-	-	-	_	-	-	<u>-</u>	<u>-</u>		-	_
44	Stream Crossing	LF	-	**	-	-	-	_	-	-	-	-	-
45	Rip Rap	CY	100		\$0.00	\$58.00	\$5,800.00		\$0.00		\$0.00	\$25.00	\$2,500.00
46	Test Pit Excavation & Refill	EA	10		\$0.00	\$25.00	\$250.00		\$0.00		\$0.00	\$100.00	\$1,000.00
47	Flowable Fill	CY	240		\$0.00	\$125.00	\$30,000.00		\$0.00		\$0.00	\$95.00	\$22,800.00
48	Aggregate for Backfill	CY	1,700		\$0.00	\$40.70	\$69,190.00		\$0.00		\$0.00	\$18.00	\$30,600.00
49	Concrete Curb Replacement	LF	_	_	-	-	-	-	-	_	-		-
50	Concrete Driveway Repair	SY	20			100	\$2,000.00		\$0.00		\$0.00	\$20.00	\$400.00
51	Concrete Sidewalk Repair	SY	-	-	-	-	-	-	_	-	-	-	-
L	Total Bid Price-Contract 1-Section A			No	Bid	\$1,629	9,930.00	No	o Bid	N	lo Bid	\$1,09	3,250.00

Transmission of the last of th				Carl Be	elt, Inc.	Frank	Arnold	Excavating	Associates	Alvarez (Contractors	Wi	nters
Constr	uction Contract 1 - Section B												
Item #	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	Mobilization	LS	1	\$40,300.00	\$40,300.00		\$0.00		\$0.00	\$50,000.00	\$50,000.00		\$0.00
2	Traffic Control	LS	1	\$106,000.00	\$106,000.00		\$0.00		\$0.00	\$120,000.00	\$120,000.00		\$0.00
3	Audio Visual Taping	LS	1	\$2,600.00	\$2,600.00		\$0.00		\$0.00	\$6,000.00	\$6,000.00		\$0.00
4	12" Ductile Iron Water Line	LF	320	\$99.00	\$31,680.00		\$0.00		\$0.00	\$150.00	\$48,000.00		\$0.00
5	8" Ductile Iron Water Line	LF	90	\$73.00	\$6,570.00		\$0.00		\$0.00	\$100.00	\$9,000.00		\$0.00
6	6" Ductile Iron Water Line	LF	60	\$79.00	\$4,740.00		\$0.00		\$0.00	\$90.00	\$5,400.00		\$0.00
7	4" Ductile Iron Water Line	LF	80	\$67.00	\$5,360.00		\$0.00		\$0.00	\$85.00	\$6,800.00		\$0.00
8	12" PVC Water Line	LF	7,470	\$70.60	\$527,382.00		\$0.00		\$0.00	\$95.00	\$709,650.00		\$0.00
9	8" PVC Water Line	LF	3,200	\$54.25	\$173,600.00		\$0.00		\$0.00	\$90.00	\$288,000.00		\$0.00
10	6" PVC Water Line	LF	2,350	\$49.20	\$115,620.00	2	\$0.00		\$0.00	\$65.00	\$152,750.00		\$0.00
11	4" PVC Water Line	LF	100	\$55.00	\$5,500.00		\$0.00		\$0.00	\$50.00	\$5,000.00		\$0.00
12	2" PVC Water Line	LF	100	\$48.00	\$4,800.00		\$0.00		\$0.00	\$40.00	\$4,000.00		\$0.00
13	12" Gate Valve with Valve Box	EA	6	\$2,100.00	\$12,600.00		\$0.00		\$0.00	\$2,500.00	\$15,000.00		\$0.00
14	8" Gate Valve with Valve Box	EA	3	\$1,300.00	\$3,900.00		\$0.00		\$0.00	\$1,500.00	\$4,500.00		\$0.00
15	6" Gate Valve with Valve Box	EA	8	\$950.00	\$7,600.00		\$0.00		\$0.00	\$1,000.00	\$8,000.00		\$0.00
16	4" Gate Valve with Valve Box	EA	4	\$935.00	\$3,740.00		\$0.00		\$0.00	\$1,000.00	\$4,000.00		\$0.00
17	2" Ball Valve with Valve Box	EA	1	\$480.00	\$480.00		\$0.00		\$0.00	\$800.00	\$800.00		\$0.00
18A	12" x 3/4" Main Line Service Connection	EA	27	\$485.00	\$13,095.00		\$0.00		\$0.00	\$300.00	\$8,100.00		\$0.00
18B	8" x 3/4" Main Line Service Connection	EA	11	\$450.00	\$4,950.00		\$0.00		\$0.00	\$300.00	\$3,300.00		\$0.00
18C	6" x 3/4" Main Line Service Connection	EA	21	\$450.00	\$9,450.00		\$0.00		\$0.00	\$300.00	\$6,300.00		\$0.00
18D	2" x 3/4" Main Line Service Connection	EA	-		-	-	-	-	-	-	-	-	
19	1 1/2" Main Line Service Connection	EA	4	\$550.00	\$2,200.00		\$0.00		\$0.00	\$300.00	\$1,200.00		\$0.00
20	3/4" PE Pipe	LF	1,570	\$52.00	\$81,640.00		\$0.00		\$0.00	\$30.00	\$47,100.00		\$0.00
21	1 1/2" PE Pipe	LF	240	\$46.00	\$11,040.00		\$0.00		\$0.00	\$35.00	\$8,400.00		\$0.00
22	1 1/2" Wye	EA	1	\$90.00	\$90.00		\$0.00		\$0.00	\$200.00	\$200.00		\$0.00
23	3/4" Meter Assembly	EA	67	\$273.00	\$18,291.00		\$0.00		\$0.00	\$300.00	\$20,100.00		\$0.00
24	1 1/2" Meter Assembly	EA	_	4	-	_	-	-	-	-	•	-	
25	Fire Hydrant Assembly	EA	13	\$4,660.00	\$60,580.00		\$0.00		\$0.00	\$3,500.00	\$45,500.00		\$0.00
26	Blow Off	EA	_	_	-		_	_	-	-	-		

	•			O and D	-14 1	e de la composición della comp	A a.l.d.	5		A In a page of	31	141	· · · · · · · · · · · · · · · · · · ·	
Constr	ruction Contract 1 - Section B			Carl B	elt, Inc.	Frank	Arnold	Excavating	Associates	Alvarez	Contractors	Winters		
	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
27	20" Casing	LF	105	\$370.00	\$38,850.00		\$0.00		\$0.00	\$300.00	\$31,500.00		\$0.00	
28	16" Casing	LF	75	\$301.00	\$22,575.00		\$0.00		\$0.00	\$300.00	\$22,500.00		\$0.00	
29	14" Casing	LF	45	\$380.00	\$17,100.00		\$0.00		\$0.00	\$300.00	\$13,500.00		\$0.00	
30	10" Casing	LF	100	\$266.00	\$26,600.00		\$0.00		\$0.00	\$300.00	\$30,000.00		\$0.00	
31	4" Casing	LF	215	\$106.00	\$22,790.00		\$0.00		\$0.00	\$200.00	\$43,000.00		\$0.00	
32	2" PVC Casing	LF	110	\$106.00	\$11,660.00		\$0.00		\$0.00	\$200.00	\$22,000.00		\$0.00	
33	20 " Steel Casing (Open Cut)	LF	30	\$135.00	\$4,050.00		\$0.00		\$0.00	\$100.00	\$3,000.00		\$0.00	
34	16" Steel Casing (Open Cut)	LF	78	•	-				-		•		-	
35	14" Steel Casing (Open Cut)	LF	-	-	-			-	-	-	-			
36	2" PVC Casing (Open Cut)	LF	45	\$35.00	\$1,575.00		\$0.00		\$0.00	\$80.00	\$3,600.00		\$0.00	
37	Asphalt Trench Patch (Private)	SY	200	\$53.45	\$10,690.00		\$0.00		\$0.00	\$60.00	\$12,000.00		\$0.00	
38	Asphalt Trench Patch (County)	SY	375	\$53.45	\$20,043.75		\$0.00		\$0.00	\$60.00	\$22,500.00		\$0.00	
39	Asphalt Trench Patch (State)	SY	3,350	\$52.40	\$175,540.00		\$0.00		\$0.00	\$50.00	\$167,500.00		\$0.00	
40	Asphalt Overlay	SY	11,040	\$10.80	\$119,232.00		\$0.00		\$0.00	\$12.00	\$132,480.00		\$0.00	
41	Triple Coat Tar & Chip	SY	-					-		-	-	-	-	
42	Aggregate for Streets & Driveways	CY	30	\$40.00	\$1,200.00		\$0.00		\$0.00	\$40.00	\$1,200.00		\$0.00	
43	2" Milling	SY	11,070	\$1.73	\$19,151.10		\$0.00		\$0.00	\$2.00	\$22,140.00		\$0.00	
44	Stream Crossing	LF	90	\$362.00	\$32,580.00		\$0.00		\$0.00	\$400.00	\$36,000.00		\$0.00	
45	Rip Rap	CY	100	\$48.00	\$4,800.00		\$0.00		\$0.00	\$60.00	\$6,000.00		\$0.00	
46	Test Pit Excavation & Refill	EA	10	\$210.00	\$2,100.00		\$0.00		\$0.00	\$100.00	\$1,000.00		\$0.00	
47	Flowable Fill	CY	-	-	-	-	-	***	*		-	-	-	
48	Aggregate for Backfill	CY	3,240	\$20.00	\$64,800.00		\$0.00		\$0.00	\$50.00	\$162,000.00		\$0.00	
49	Concrete Curb Replacement	LF	100	\$42.00	\$4,200.00		\$0.00		\$0.00	\$50.00	\$5,000.00		\$0.00	
50	Concrete Driveway Repair	SY	15	\$230.00	\$3,450.00		\$0.00		\$0.00	\$50.00	\$750.00		\$0.00	
51	Concrete Sidewalk Repair	SY	10	\$345.00	\$3,450.00		\$0.00		\$0.00	\$50.00	\$500.00		\$0.00	
	Total Bid Price-Contract 1-Section B			\$1,860	0,244.85	No	o Bid	No	o Bid	\$2,31	5,270.00		0.00	

onetr	uction Contract 1 - Section C			Carl B	elt, Inc.	Frank	Arnold	Excavating	Associates	Alvarez (Contractors	ntractors Winters		
	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
	Mobilization	LS	1		\$0.00		\$0.00		\$0.00	\$36,000.00	\$36,000.00		\$0.00	
2	Traffic Control	LS	1		\$0.00		\$0.00		\$0.00	\$50,000.00	\$50,000.00		\$0.00	
3	Audio Visual Taping	LS	1		\$0.00		\$0.00		\$0.00	\$5,000.00	\$5,000.00		\$0.00	
4	12" Ductile Iron Water Line	LF	-	-		-	-		·*	-	-			
5	8" Ductile Iron Water Line	LF	40		\$0.00		\$0.00		\$0.00	\$60.00	\$2,400.00		\$0.00	
6	6" Ductile Iron Water Line	LF	190		\$0.00		\$0.00		\$0.00	\$50.00	\$9,500.00		\$0.00	
7	4" Ductile Iron Water Line	LF	70		\$0.00		\$0.00		\$0.00	\$48.00	\$3,360.00		\$0.00	
8	12" PVC Water Line	LF	-	-							-			
9	8" PVC Water Line	LF	4,950		\$0.00		\$0.00		\$0.00	\$110.00	\$544,500.00		\$0.00	
10	6" PVC Water Line	LF	40		\$0.00		\$0.00		\$0.00	\$100.00	\$4,000.00		\$0.00	
11	4" PVC Water Line	LF	40		\$0.00		\$0.00		\$0.00	\$100.00	\$4,000.00		\$0.00	
12	2" PVC Water Line	LF	20		\$0.00		\$0.00		\$0.00	\$80.00	\$1,600.00		\$0.00	
13	12" Gate Valve with Valve Box	EA	_		-	-	-		-	-	-			
14	8" Gate Valve with Valve Box	EA	3		\$0.00		\$0.00		\$0.00	\$1,500.00	\$4,500.00		\$0.00	
15	6" Gate Valve with Valve Box	EA	6		\$0.00		\$0.00		\$0.00	\$1,000.00	\$6,000.00		\$0.00	
16	4" Gate Valve with Valve Box	EA	4		\$0.00		\$0.00		\$0.00	\$1,000.00	\$4,000.00		\$0.00	
17	2" Ball Valve with Valve Box	EA	1		\$0.00		\$0.00		\$0.00	\$800.00	\$800.00		\$0.00	
18A	12" x 3/4" Main Line Service Connection	EA	-	-	-	-	-	-	-	-	-	-		
18B	8" x 3/4" Main Line Service Connection	EA	23		\$0.00		\$0.00		\$0.00	\$250.00	\$5,750.00		\$0.00	
18C	6" x 3/4" Main Line Service Connection	EA	-	-	_	-	-	-		-			-	
18D	2" x 3/4" Main Line Service Connection	EA	-	-	-	_	-	-	-	-	_	-	_	
19	1 1/2" Main Line Service Connection	EA	11		\$0.00		\$0.00		\$0.00	\$300.00	\$3,300.00		\$0.00	
20	3/4" PE Pipe	LF	650		\$0.00		\$0.00		\$0.00	\$30.00	\$19,500.00		\$0.00	
21	1 1/2" PE Pipe	LF	630		\$0.00		\$0.00		\$0.00	\$30.00	\$18,900.00		\$0.00	
22	1 1/2" Wye	EA	11		\$0.00		\$0.00		\$0.00	\$200.00	\$2,200.00		\$0.00	
23	3/4" Meter Assembly	EA	45		\$0.00		\$0.00		\$0.00	\$300.00	\$13,500.00		\$0.00	
24	1 1/2" Meter Assembly	EA	2		\$0.00		\$0.00		\$0.00	\$300.00	\$600.00		\$0.00	
25	Fire Hydrant Assembly	EA	11		\$0.00		\$0.00		\$0.00	\$3,500.00	\$38,500.00		\$0.00	

				Carl B	elt, Inc.	Frank	Arnold	Excavating	Associates	Alvarez (Contractors	W	nters
const	ruction Contract 1 - Section C												
	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price						
26	Blow Off	EA	-		-		-		-				-
27	20" Casing	LF	-	-	-	-	-		-				-
28	16" Casing	LF	-	-		-	-					-	
29	14" Casing	LF	80		\$0.00		\$0.00		\$0.00	\$350.00	\$28,000.00		\$0.00
30	10" Casing	LF	50		\$0.00		\$0.00		\$0.00	\$300.00	\$15,000.00		\$0.00
31	4" Casing	LF	350		\$0.00		\$0.00		\$0.00	\$150.00	\$52,500.00		\$0.00
32	2" PVC Casing	LF	340		\$0.00		\$0.00		\$0.00	\$100.00	\$34,000.00		\$0.00
33	20 " Steel Casing (Open Cut)	LF	-		-	-	-				-		-
34	16" Steel Casing (Open Cut)	LF	30		\$0.00		\$0.00		\$0.00	\$250.00	\$7,500.00		\$0.00
35	14" Steel Casing (Open Cut)	LF	30		\$0.00		\$0.00		\$0.00	\$250.00	\$7,500.00		\$0.00
36	2" PVC Casing (Open Cut)	LF	200		\$0.00		\$0.00		\$0.00	\$80.00	\$16,000.00		\$0.00
37	Asphalt Trench Patch (Private)	SY	200		\$0.00		\$0.00		\$0.00	\$60.00	\$12,000.00		\$0.00
38	Asphalt Trench Patch (County)	SY	735		\$0.00		\$0.00		\$0.00	\$65.00	\$47,775.00		\$0.00
39	Asphalt Trench Patch (State)	SY	-		-				-	-			
40	Asphalt Overlay	SY	8,140		\$0.00		\$0.00		\$0.00	\$16.00	\$130,240.00		\$0.00
41	Triple Coat Tar & Chip	SY	16	40	-		-			-	-	-	4 3
42	Aggregate for Streets & Driveways	CY	30		\$0.00		\$0.00		\$0.00	\$40.00	\$1,200.00		\$0.00
43	2" Milling	SY	40		\$0.00		\$0.00		\$0.00	\$20.00	\$800.00		\$0.00
44	Stream Crossing	LF	40		\$0.00		\$0.00		\$0.00	\$100.00	\$4,000.00		\$0.00
45	Rip Rap	CY	100		\$0.00		\$0.00		\$0.00	\$60.00	\$6,000.00		\$0.00
46	Test Pit Excavation & Refill	EA	10		\$0.00		\$0.00		\$0.00	\$200.00	\$2,000.00		\$0.00
47	Flowable Fill	CY	1,200		\$0.00		\$0.00		\$0.00	\$120.00	\$144,000.00		\$0.00
48	Aggregate for Backfill	CY	1,480		\$0.00		\$0.00		\$0.00	\$40.00	\$59,200.00		\$0.00
49	Concrete Curb Replacement	LF	-	_	_	_	_		_	_	_	-	
50	Concrete Driveway Repair	SY	15	100	\$0.00		\$0.00		\$0.00	\$100.00	\$1,500.00		\$0.00
51	Concrete Sidewalk Repair	SY	10		\$0.00		\$0.00		\$0.00	\$100.00	\$1,000.00		\$0.00
	Total Bid Price-Contract 1-Sec	ction C		No	Bid	No	Bid	N	o Bid	\$1,34	18,125.00		0.00

COLUM		- NO. 17 (18)	N/S R STATE	Carl B	elt, Inc.	Frank	Arnold	Excavating	Associates	Alvarez Contractors		Winters	
onstr	ruction Contract 1 - Section D					推翻集員							
tem #	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
11	Mobilization	LS	1		\$0.00		\$0.00	\$126,334.00	\$126,334.00		\$0.00		\$0.00
2	Traffic Control	LS	1		\$0.00		\$0.00	\$118,522.00	\$118,522.00		\$0.00		\$0.00
3	Audio Visual Taping	LS	1		\$0.00		\$0.00	\$3,479.00	\$3,479.00		\$0.00		\$0.00
4	12" Ductile Iron Water Line	LF	1,080		\$0.00		\$0.00	\$85.05	\$91,854.00		\$0.00		\$0.00
5	8" Ductile Iron Water Line	LF	330		\$0.00		\$0.00	\$58.70	\$19,371.00		\$0.00		\$0.00
6	6" Ductile Iron Water Line	LF	470		\$0.00		\$0.00	\$51.80	\$24,346.00		\$0.00		\$0.00
7	4" Ductile Iron Water Line	LF	150		\$0.00		\$0.00	\$26.32	\$3,948.00		\$0.00		\$0.00
8	12" PVC Water Line	LF	15,290		\$0.00		\$0.00	\$44.40	\$678,876.00		\$0.00		\$0.00
9	8" PVC Water Line	LF	11,070		\$0.00		\$0.00	\$33.00	\$365,310.00		\$0.00		\$0.00
10	6" PVC Water Line	LF	11,340		\$0.00		\$0.00	\$28.40	\$322,056.00		\$0.00		\$0.00
11	4" PVC Water Line	LF	590		\$0.00		\$0.00	\$26.00	\$15,340.00		\$0.00		\$0.00
12	2" PVC Water Line	LF	2,620		\$0.00		\$0.00	\$21.20	\$55,544.00		\$0.00		\$0.00
13	12" Gate Valve with Valve Box	EA	15		\$0.00		\$0.00	\$2,149.60	\$32,244.00		\$0.00		\$0.00
14	8" Gate Valve with Valve Box	EA	8		\$0.00		\$0.00	\$1,345.00	\$10,760.00		\$0.00		\$0.00
15	6" Gate Valve with Valve Box	EA	24		\$0.00		\$0.00	\$1,029.00	\$24,696.00		\$0.00		\$0.00
16	4" Gate Valve with Valve Box	EA	12		\$0.00		\$0.00	\$921.00	\$11,052.00		\$0.00		\$0.00
17	2" Ball Valve with Valve Box	EA	8		\$0.00		\$0.00	\$735.75	\$5,886.00		\$0.00		\$0.00
18A	12" x 3/4" Main Line Service Connection	EA	72		\$0.00		\$0.00	\$317.50	\$22,860.00		\$0.00		\$0.00
18B	8" x 3/4" Main Line Service Connection	EA	48		\$0.00		\$0.00	\$293.00	\$14,064.00		\$0.00		\$0.00
18C	6" x 3/4" Main Line Service Connection	EA	77		\$0.00		\$0.00	\$279.00	\$21,483.00		\$0.00		\$0.00
18D	2" x 3/4" Main Line Service Connection	EA	12		\$0.00		\$0.00	\$268.50	\$3,222.00		\$0.00		\$0.00
19	1 1/2" Main Line Service Connection	EA	15		\$0.00		\$0.00	\$393.00	\$5,895.00		\$0.00		\$0.00
20	3/4" PE Pipe	LF	5,620		\$0.00		\$0.00	\$27.80	\$156,236.00		\$0.00		\$0.00
21	1 1/2" PE Pipe	LF	870		\$0.00		\$0.00	\$1.60	\$1,392.00		\$0.00		\$0.00
22	1 1/2" Wye	EA	12		\$0.00		\$0.00	\$310.75	\$3,729.00		\$0.00		\$0.00
23	3/4" Meter Assembly	EA	239		\$0.00		\$0.00	\$222.00	\$53,058.00		\$0.00		\$0.00
24	1 1/2" Meter Assembly	EA	2		\$0.00		\$0.00	\$347.00	\$694.00		\$0.00		\$0.00
25	Fire Hydrant Assembly	EA	41		\$0.00		\$0.00	\$4,448.00	\$182,368.00		\$0.00		\$0.00

	•			Carl Bo	elt, Inc.	Frank	Arnold	Excavating	ı Associates	Alvarez (Contractors	Wi	nters
Consti	ruction Contract 1 - Section D												
ltem #	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
26	Blow Off	EA	8		\$0.00		\$0.00	\$1,379.25	\$11,034.00		\$0.00		\$0.00
27	20" Casing	LF	105		\$0.00		\$0.00	\$290.40	\$30,492.00		\$0.00		\$0.00
28	16" Casing	LF	75		\$0.00		\$0.00	\$227.56	\$17,067.00		\$0.00		\$0.00
29	14" Casing	LF	125		\$0.00		\$0.00	\$288.36	\$36,045.00		\$0.00		\$0.00
30	10" Casing	LF	150		\$0.00		\$0.00	\$223.04	\$33,456.00		\$0.00		\$0.00
31	4" Casing	LF	565		\$0.00		\$0.00	\$187.20	\$105,768.00		\$0.00		\$0.00
32	2" PVC Casing	LF	450		\$0.00		\$0.00	\$113.14	\$50,913.00		\$0.00		\$0.00
33	20 " Steel Casing (Open Cut)	LF	110		\$0.00		\$0.00	\$61.30	\$6,743.00		\$0.00		\$0.00
34	16" Steel Casing (Open Cut)	LF	180		\$0.00		\$0.00	\$55.20	\$9,936.00		\$0.00		\$0.00
35	14" Steel Casing (Open Cut)	LF	200		\$0.00		\$0.00	\$56.50	\$11,300.00		\$0.00		\$0.00
36	2" PVC Casing (Open Cut)	LF	1,545		\$0.00		\$0.00	\$2.60	\$4,017.00		\$0.00		\$0.00
37	Asphalt Trench Patch (Private)	SY	3,100		\$0.00		\$0.00	\$47.30	\$146,630.00		\$0.00		\$0.00
38	Asphalt Trench Patch (County)	SY	1,110		\$0.00		\$0.00	\$53.50	\$59,385.00		\$0.00		\$0.00
39	Asphalt Trench Patch (State)	SY	3,350		\$0.00		\$0.00	\$45.00	\$150,750.00		\$0.00		\$0.00
40	Asphalt Overlay	SY	20,500		\$0.00		\$0.00	\$10.82	\$221,810.00		\$0.00		\$0.00
41	Triple Coat Tar & Chip	SY	3,650		\$0.00		\$0.00	\$5.04	\$18,396.00		\$0.00		\$0.00
42	Aggregate for Streets & Driveways	CY	90		\$0.00		\$0.00	\$56.50	\$5,085.00		\$0.00		\$0.00
43	2" Milling	SY	11,100		\$0.00		\$0.00	\$1.80	\$19,980.00		\$0.00		\$0.00
44	Stream Crossing	LF	130		\$0.00		\$0.00	\$53.40	\$6,942.00		\$0.00		\$0.00
45	Rip Rap	CY	300		\$0.00		\$0.00	\$51.48	\$15,444.00		\$0.00		\$0.00
46	Test Pit Excavation & Refill	EA	30		\$0.00		\$0.00	\$785.00	\$23,550.00		\$0.00		\$0.00
47	Flowable Fill	CY	1,440		\$0.00		\$0.00	\$98.60	\$141,984.00		\$0.00		\$0.00
48	Aggregate for Backfill	CY	5,070		\$0.00		\$0.00	\$34.20	\$173,394.00		\$0.00		\$0.00
49	Concrete Curb Replacement	LF	100		\$0.00		\$0.00	\$31.81	\$3,181.00		\$0.00		\$0.00
50	Concrete Driveway Repair	SY	50		\$0.00		\$0.00	\$107.90	\$5,395.00		\$0.00		\$0.00
51	Concrete Sidewalk Repair	SY	20		\$0.00		\$0.00	\$117.15	\$2,343.00		\$0.00		\$0.00
	Total Bid Price-Contract 1-Section D			No	Bid	No	o Bid	\$3,68	5,659.00	N	lo Bid	N N	o Bid